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Subject:Physics(Objective)

1 The particles emitted from a hot cathode surface
are:

(b) negative ions
(d) Electrons

Postive ions
Protons

(a)
(c)
> In tungsten filament the potential given to

produce the Beam of Electron by thermionic
emission is:

@) 6v (b) v
() 8v  (d) 9y
3 The biggest achievment of electronics is:
(a)  Calculator (b)  computer
(c)  Transister (d)  mobile phone

4 The screen of cathode ray tube consists of a
material called.

(a) Zinc (b) Iron
(c)  phosphorus (d) Glass
> George Bole invented:
(a) Boolean algebra (b) Arithemetic algebra
(c) Mean algebra (d) Geomerty
6 The basic logic operation of NOT gate is called:
(a) inversion (b) non-inversien
(c) inversion & non inversion
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(d)  none of these (d) de [ e Ukl
7 Which logical operation is petformed by this gate? ,, fe mg‘(ﬂfd 4 f_'g UU{L&,{/ !
(a) AND (b)% NOR () ‘e b) ~
(c) NAND d OR (©) b C J
8 The output of NAND-gate is "0" when. /F, Lf n"O"%&fTJ oS
(@) A=1,B=I (b)  A=0,B=I (@ A=l B=l (b)  A=0B=1
(¢) A=0,B=1 (d A=1,B=0 (c) A=0,B=1 (d A=1,B=0
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